Soustraction Avec Des Zéros (H)

1000
-219

1000
- 798

1000
- 621

1000
- 946

1000
- 553

1000
-91

1000
-54

Calculez la différence.

1000 1000
-905 -133
1000 1000
- 397 - 886
1000 1000
-139 - 560
1000 1000
- 864 -441
1000 1000
- 364 -772
1000 1000
- 440 - 881
1000 1000
-991 - 940

1000
-271

1000
- 595

1000
-271

1000
- 977

1000
- 144

1000
- 569

1000
- 152
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Soustraction Avec Des Zeéros (H) Réponses

1000
-219

-905

781

1000
- 798

- 397

202

1000
- 621

-139

379

1000
- 946

- 864

54

1000
- 553

- 364

447

1000
-91

- 440

909

1000
-54

-991

946

Calculez la différence.

1000
-271

729

1000
- 595

405

1000
-271

729

1000
- 977

23

1000
- 144

856

1000
- 569

1000 1000
-133

95 867
1000 1000
- 886

603 114
1000 1000
- 560

861 440
1000 1000
-441

136 559
1000 1000
-772

636 228
1000 1000
- 881

560 119
1000 1000
- 940

9 60

431

1000
- 152

848
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